








































































Frieda.fi f21 Fall
22

AnnouncementsReminders

Today covering 1.7
Monday 1 It some of 1.8

Tuesday Discussion Office Hours 12 30 1 30

Wednesday Exam 1 in class

covers all material up to and
including Mon Sept 26

Wiley Plus Hw 4 due at 11 59pm
1.6 1.7 some of 1.8

Thursday Discussion
Quiz 4 1.7 some of 1.8

Friday Lecture

2 Sketch as much as you can of the
rational function Ya

Nota











































































II Introduction to limits
and continuity

All of calculus is built on the concept
of a limit

How does a function behave as

you get closer and closer and
closer to a point

Thtunston is continuousatapoint
if
CD it exists at the point
2 there are no jumps or breaks
at the point

A function iscontinuousonanintervatifit's continuous at every point in
the interval

This function is continuous

at every point
4 2











































































Hit

Not continuous at x 0
Doesn't exist at x 0

Is continuous at x 2
Is continuous on the interval o o

f 0,07
16,73

2 0 7Eta
iffy

Not continuous
at 2 1,1

o
I Is continuous at
z all other points

41 27 2 not 1
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fl I

fly 2

te

Another way to say fix is continuous
at the point x c is

The yvaluesoffe when x is

very close to e

areverycloseto
rephrased

When x is very close to c the

y values of flt are very close
to fcc











































































Rephrased 50
As x approaches c fly approaches fl

EI
Not continuous at

É

x c

Which functions are continuous

Exponentials Logarithms
Polynomials RationalFunctions
Smet cosine Tangent

are continuous at
all points where they are defined

Limits lim fix
x c

the limit of f x as x approaches c

what does it look like fee should
equal 1 looking at the x values











































































close to c
2 ignoring fee

EI let FCA Sing
o doesn't exist
But if it did what should it be

101

msÉ

I

x 70 9

FI
fly fl IO

iii

u

him fix 5











































































The limit doesn't care what actually
happens at x 1 just nearby

EI let fix n I

5 O

c

p
s

What is fig fix
One side makes it look like it should be5
The other side suggests 10

Ambiguous so the limit Does Not Exist
ONE

fin FA INE



Group Wark

it

I
Find the limits at

3 2 1 1 2,3
ONE
III In ONE


